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=LA A 43,577,669 22,533,940 21,043,729
= 22,444,000
Jl 11,176,647
= 1,280,000
o 8,677,022
ots=2l &l 43,577,669 22,533,940 21,043,729
= 22,444,000
) 11,176,647
= 1,280,000
= 8,677,022
SZONE A (SEIHESES) 43,577,669 22,533,940 21,043,729
= 22,444,000
Jl 11,176,647
= 1,280,000
o 8,677,022
BHI|IZAIE 252 100,000 60,000 40,000
401 AlZHIZ SO 100,000 60,000 40,000
01 A28l 100,000 60,000 40,000
OstBIIZAIE THollthll 2182 ==t 100,000
HII=AE 29 1,382,492 2,741,400 1,358,908
Jl 52,001
= 1,330,491
201 er23 | 708,720 708,520 200
01 At2teltl 4,920 4,920 0
O==ZHA =2 2,920
OEANERTE B4+ 2,000
02 S3=gHl 703,800 703,600 200
OMS=EV1I| FXl2el 90,000
O&t=2 &5t 83l (St=<3lH]) 1,800
OIS EoI=HCANE SER= 200,000
Otz XMelAME S8R 82,000
OOtSote=HMelAE (2401 2) 3323 200,000
OI=2=38HeAE 33 130,000
202 04l 4,000 3,930 70
01 SLHoIH 4,000 3,930 70
O=&acgde =4 4,000
401 Al HIZ S 0HbI 642,240 1,798,950 1,186,710
) 31,469
Ea 610,771
01 AlZ2H| 642,240 1,798,950 1,186,710
OIS Eot=HelAlE ADES=E2AC|A
AEIDE 600,000
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OATZotHMelAE =& (AL, et
0l, Gt&t, stets) 42,240
Jl 31,469
Ea 10,771
403 AXIEHHSAH=201d 27,532 0 27,532
Il 20,532
o 7,000
02 S 2SS0t st = & 2 €A | 27,532 0 27,532
O3 3522 D= (AL, 4H210]) 27,532
7l 20,532
= 7,000
sFI|z=AE etz 5,049,738 5,780,938 AT731,200
Jl 2,149,646
Ea 2,900,092
307 gl2to| & 4,158,738 4,158,738 0
) 2,126,3%
o 2,032,342
05 git?(& = 4,158,738 4,158,738 0
OlttsEotrxeld &84 2,285,116
Jl 1,175,457
[Ea 1,109,659
O2kXeld 29 365,953
Jl 135,532
= 220,421
OEERHeE 2 786,982
Jl 347,723
s 439,259
OltSot=E 29 730,687
7l 467,684
= 263,003
401 AIZHIZ R0 831,000 1,622,200 AT791,200
Jl 23,250
Ea 807,750
01 A28l 831,000 1,622,200 AT791,200
Ot SZotrHelAlE JHESA 10,000
Jl 7,500
s 2,500
Ot =2 SSHCAIE HESAL 800,000
OARIot=HelAl" HEBAHALZ, =2,
I, 24) 21,000
Jl 15,750
Ea 5,250
403 AXIEHMSAH=Z01d 60,000 0 60,000
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02 SIS0t 2 S A A 60,000 0 60,000
O33ot=MalAld 2l SEI ===
= 60,000
OtSot=E QIZtHAAIE (S2=2) 220,000 180,000 40,000
201 Zet=3h] 70,000 60,000 10,000
02 S3=gHl 70,000 60,000 10,000
O3 OtSot=Z (L) 332 70,000
307 212+01& 150,000 120,000 30,000
05 2ItRIE = 150,000 120,000 30,000
Oz 0tSot=S(40HA) 29 150,000
ot==2tHEH| BILAIY 2HXIR 83,452 74,902 8,550
201 er23| 46,880 41,230 5,650
01 At2teltl 26,880 22,080 4,800
Odt==218H| BILBUH2 S8t =2
220,000 6 H *43] 5,280
OBTLSYU4E BDLEBAL 42
450,000 * 1271 2 +43] 21,600
2 35244l 20,000 19,150 850
OBTLAtY S&8R= 20,000
206 M=l 572 572
01 MZH| 572 572
OBl =ZPAS W8
572,000 *14] 572
403 AXIEHMSA=01d 36,000 33,100 2,900
02 SVI2S0 U H=E S AL 36,000 33,100 2,900
QA Sh2t1 A 2AUE 2IRAIS (BTL)
S HE O 9,000,000 *42] 36,000
St=2H 1Al BTLALY 2 CHAIR (2HI) 4,005,987 3,939,000 116,987
= 2,316,000
Il 630,000
o 1,109,987
402 2I2E X201 & 4,005,987 3,939,000 116,987
= 2,316,000
Jl 630,000
o 1,109,987
03 2IZ+2AEAIHHI 4,005,987 3,939,000 116,987
OUdZT Str=22HH| AUE 2UXHAIS(BTL)
ANESZUHZ 3,429,000
= 2,316,000
) 630,000
o 483,000
Oz St=22HH| AUE 2UKXAIS(BTL)
24l 626,987
HENSY 2el 429,000 105,700 323,300
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10,696,000
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1,621,000
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1,709,000

349,000
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1,621,000
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10, 161,200
10, 161,200
7,283,650
1,623,550
331,550
922,450
534,800
534,800
383,350
85,450
17,450
48,550

1,458,900

162,100

8,702,300

372,700
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6,295,000
3,482,000
2,121,000
208,000
484,000

2,171,000

4,124,000

401 AIZHIYL 20
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6,295,000
3,482,000
2,121,000
208,000
484,000

2,171,000

4,124,000
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5,980,250
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1,953,900

4,026,350
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3,307,900
2,014,950
197,600
459,800
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217,100
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400,000
175,000

400,000
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400,000
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400,000
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3,978,000
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1,205,000

2,773,000
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2,773,000
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3,779,100
3,779,100
1,590,300
1,413,600
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542,450
198,900
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83,700
74,400
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28,5850

1,084,500

120,500

2,694,600

78,400
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6,430,000
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193,000
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725,000
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0
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108,500
108,500
522,600
,974,100
183,350
428,450
321,500
321,500
185,400
103,900
9,650
22,5850
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652,500

72,500

5,456,000

249,000
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877,000
445,000
249,000

31,000
152,000

32,000

845,000

401 AIZHIZ 20

Y

UMY

877,000
445,000
249,000

31,000
152,000

32,000

845,000

01 AlZHI
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 102,600 284,400 /181,800
O=2Y s0E0I=ot+ SHIAY 102,600
= 97,850
< 4,750
02 Zeltl 5,400 31,600 A26,200
O2Y s0ENISot=T SHIAE 5,400
= 5,180
= 250
2d sOENSot=E SEAY 161,000 482,000 A321,000
= 153,000
s 8,000
401 AIZHIZ SO 161,000 482,000 A321,000
= 153,000
[ 8,000
01 Al&H| 152,950 433,800 280,850
OZd sOHElISot=T SEAY 162,950
= 145,350
= 7,600
02 22/l 8,050 48,200 240,150
OZY sO0E0IS0trE SEAE 8,050
= 7,650
= 400
2= SO E0IScot= AL 105,000 148,000 243,000
= 100,000
[ 5,000
401 AIEHIX R0 105,000 148,000 A\43,000
= 100,000
= 5,000
01 A28l 99,750 148,000 N48,250
Og= s0ElISot+= FHIAte 99,750
= 95,000
= 4,750
02 Zeld| 5,250 0 5,250
Og= s0E0t=ot+ SHIAY 5,250
= 5,000
== 250
ottt SOIEDSO=T EBIAY 105,000 99,000 6,000
= 100,000
= 5,000
401 Al HIZ R 0HHI 105,000 99,000 6,000
= 100,000
= 5,000
01 Al&H| 99,750 99,000 750
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Ootit sO0EOIS0t+E SHIAY 99,750
= 95,000
== 4,750
02 Zcltl 5,250 0 5,250
Odttt s0ENIS0+E SHIA 5,250
= 5,000
= 250
YLBSBot=HlAESEAME 863,000 717,000 146,000
= 771,000
=S 92,000
401 AlZHIZL SO 863,000 717,000 146,000
= 771,000
< 92,000
01 Al&H| 819,850 717,000 102,850
OIS S0t A ESEA 819,850
= 732,450
== 87,400
02 2/l 43,150 0 43,150
Ol AESSot=MelAIESEAY 43,150
= 38,550
= 4,600
98 s E0tScote= ZHIAIE 324,000 0 324,000
= 300,000
< 24,000
401 A& HIX R0 324,000 0 324,000
= 300,000
= 24,000
01 AlZ2H| 324,000 0 324,000
OHE=s0ENS0t+ HIAY 324,000
= 300,000
= 24,000
ZE SOE0So=T ZHIAMY 136,000 429,000 A293,000
= 129,000
== 7,000
401 AlZHIZ SO 136,000 429,000 A293,000
= 129,000
[ 7,000
01 A28l 136,000 429,000 293,000
OZE sO0ElISot=T SHIAe 136,000
= 129,000
= 7,000
S8 SO ENSo=E SEAY 466,000 429,000 37,000
= 443,000
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< 23,000
401 AIEHIX 20 466,000 429,000 37,000
= 443,000
= 23,000
01 AlZ8| 466,000 429,000 37,000
O&8 sO0ELS0trE SEAY 466,000
= 443,000
= 23,000
== sOoE0Sols== SHIAY 478,000 429,000 49,000
= 455,000
< 23,000
401 AIEHIX SO 478,000 429,000 49,000
= 455,000
& 23,000
01 A28l 478,000 429,000 49,000
O+==d sOE0I=ot-E JHIAE 478,000
= 455,000
= 23,000
ot SO0lENSot+=T SEAML 336,000 429,000 93,000
= 298,000
s 38,000
401 AlZHIZL SO 336,000 429,000 A83,000
= 298,000
< 38,000
01 AlZH| 336,000 429,000 /93,000
OFot sOENIS0=E SEAY 336,000
= 298,000
= 38,000
&8 sOEDNSo=E EHIAY 324,000 0 324,000
= 300,000
S 24,000
401 AlEHIZL R0 324,000 0 324,000
= 300,000
== 24,000
01 Al&H| 324,000 0 324,000
OtlE sO0ElISol=T SHIAY 324,000
= 300,000
< 24,000




